$L-910

MGW160-20E
__ __ N _———
SR
8xPk(®i)
2x DIN912-M5x12
\
\/?F\ $$ $$
/ @
ar\ @ @
7
2x Senkung
DIN74-Km5 j
1
475
Bestellnummer Oberteil
G-MEK160-0-8Pk2-1E12
G-MEK160-0-8Pk3-1E12
G-MEK160-0-8Pk4-1E12
G-MEK160-0-8Pk2-1E6-C*
G-MEK160-0-8Pk3-1E6-C*
G-MEK160-0-8Pk4-1E6-C*
Datum 10112016 MafBstab 11

Zeichnungsnummer

G-MEK160-0-8P-1E

=@

GRIP

GRIP GmbH Handhabungstechnik




| MGW160-2UE

10

28/36*

PL-910

8xPk(®i)
2x DIN912-M5x12

J

00

0.0
; @%%

415

P

40
10

f\\

\

Bestellnummer Unterteil

G-MEK125-U-8Pk2-1E12
G-MEK125-U-8Pk3-1E12
G-MEK125-U-8PkL4-1E12

G-MEK125-U-8Pk2-1E6-C*
G-MEK125-U-8Pk3-1E6-C*
G-MEK125-U-8Pk4-1E6-C*

Dafum 10 11.2016 | MaPsfb 1.1 .
A =e 1 GRIP

GRIP GmbH Handhabungstechnik




MGW160-20E

$L-910

28/36*

217

59

40

Bestellnummer Oberteil

G-MEK160-0-8Pk2-2E12
G-MEK160-0-8Pk3-2E12
G-MEK160-0-8Pk4-2E12

G-MEK160-0-8Pk2-2E6-C*
G-MEK160-0-8Pk3-2E6-C*
G-MEK160-0-8Pk4-2E6-C*

Datum

10.11.2016

Mafstab 11

Zeichnungsnummer

G-MEK160-0-8P-2E

——GRIP

GRIP GmbH Handhabungstechnik




MGW160-2UE

10

y
S
28/36*

?L-910

8xPkL (Pk3, Pk2)

59

40

11

51

Bestellnummer Unterteil

G-MEK160-U-8Pk2-2E12
G-MEK160-U-8Pk3-2E12
G-MEK160-U-8PkL4-2E12

G-MEK160-U-8Pk2-2E6-C*
G-MEK160-U-8Pk3-2E6-C*
G-MEK160-U-8Pk&4-2E6-C*

Datum Mafstab 11

10.11.2016

Zeichnungsnummer

G-MEK160-U-8P-2E

=@

GRIP

GRIP GmbH Handhabungstechnik




$L-910

MGW160-20E
: : \__ o %ﬁ
Il 1l
L x G3/8

2x DIN912-M5x12

40

2x Senkung
DINT4-Km5

105

52

Bestellnummer Oberteil

G-MEK160-0-4G3/8-1E12

Datum 10112016 MafBstab 11

Zeichnungsnummer

G-MEK160-0-4G3/8-1E

GRIP

GRIP GmbH Handhabungstechnik




' MGW160-2UE

18

2x DIN912-M5x12

28

$L-910

40

105

Bestellnummer Unterteil

52

G-MEK160-U-4G3/8-1E12

Datum 10112016 MafBstab 11

Zeichnungsnummer

G-MEK160-U-4G3/8-1E

GRIP

GRIP GmbH Handhabungstechnik




